Yo
I

i

m4 F E

THAEEREZE (WRMER) FE (-7.5m) (&R) TF (E3R)

JupN 5 BE B

b3 % BERE

15 B BEEEE
& B BIEREE
BEo#sn IEE
BEES  18-15-22-017



BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

4 [ I - KA BT #H =2 B * H =
BEISEE 82, 902, 004
[FE(-7.5m) (KB)] 82, 902, 004
BEYRET 3,803,179
HEIHE 3,803,179
JL—FUIERE 54,583
1 JL—FriERE 1.00 53, 700 53,700
®
2 295y THER TR 10km 1.00 883 883
%
RAREERE R E 39, 795
3 MR E B #E250KNEY 1.00 39, 795 39, 795
=1
AR CS 35, 468
4 BEEMIEE 300H x 1, 800L 1.00 34,045 34,045
=1
5 BHREH E R L& AT ~ NIERfEE 1.00 1,423 1,423
=%
BhRGA AL 5> 3,903
6 BhREH LSy 1.00 3,903 3,903
=
TR I 7I MEERRBE 416,719
7 EHEERR U BT t=6. 6cm (As) . 30cm (Co) 70. 00 3,977 278, 390
m
8 PRI 7 FEEmEE t=6. 6cm, t=10cm 388.00 170.7 66, 231
m2




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

£ g g - BAKTE Bify H = B & % wmE

9 7RI 7 FERER e T &R ~ AL B e 5% 26.00 2,773 72,098
m3

T RAI7IL by 61,100

10 7RI 7L b5 26. 00 2,350 61,100
m3

aVY ) — FEEREE 430, 645

1M1 E&a>y ) —MEE t=10cm 7.00 170.7 1,194
m2

12 a2y ) — FREmREE t=30cm 337.00 676.8 228, 081
m2

13 a9 ) — F3ER (1) 1 T & ~ AL BB fE 5% 0.70 3,429 2, 400
m3

14 a2y 1) — F3RER (2) 1 T &t ~ AL BB FE 5% 101. 00 1,970 198,970
m3

avy ) — ks 233,770

15 Y9 ) — ks (1) |HFaIVIY—F 0.70 2,100 1,470
m3

16 a2y 1) — Fss (2) SHHavoU—t 101.00 2,300 232,300
m3

BRI E 24,482

17 BREMEE 99. 00 247.3 24,482
m3

HAERE 142,674

18 #ERE 420. 00 339.7 142, 674
m3

REMBE 12, 859

19 FEMRE 52.00 247.3 12, 859
m3




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

£ b R - ARk B H 2 B & # =

TREER 548,181

20 LRYEEW M T & RT ~ AR MR RS 257.00 2,133 548, 181
m3

#ELS 1,799, 000

21 #ELS 257.00 7,000 1,799, 000
m3

AT 18, 684, 375

HEIJOovsT 2,823,014

HEI By VA 1,292,325

22 BEILEKRI A V&R - B (1) NBFE121. 0t/f&. NBFZ! ({&fntE{+H)20. 3t/{& 54.00 14, 386 776, 844
1@

23 BEILEKRI A Y ER - BT Q) NBZ!20. 4t/1& 27.00 17, 864 482,328
1@

24 EXHEI O Y E - #5443 bﬂlgﬁ/z_ﬂ/(%ﬁﬁﬁ)w_ 5t/{@. NBF1/2%! (Z#5 2.00 10, 029 20, 058

%) 10. 5t

) & @

25 EILEKRI A Y ER - BT @) NB1/2%110. 2t/{& 1.00 13,095 13,095
1@

PAVEXSF N T3 1, 388, 306

26 $FhinTHASL 1,043. 00 187 195, 041
kg

27 BEGHEE ®13 L=780mm 122. 00 385 46,970
P

28 FmEKARHANT ®13 L=780mm 99. 00 89 8,811
kg

29 §HBLEIH4E ST AE Y 173.00 4,268 738, 364
m2

30 avsU— TR 24-12-20BB 20. 00 19, 956 399, 120
m3




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

4 [} R - KT Bify H = B M ® ¥ =

TLF v X MMRER - BT 142, 383

31 TLF v X MMREE - B 31.00 4,593 142, 383
&

REIDHY—F 12,599, 689

TR — FERER 742, 600

32 WAV — FEER 376.00 1,975 742, 600
m2

XB® 1,528, 233

33 ERRZRFRE [-380%x 100x 13x 20 8.00 125,142 1,001,136
=R

M ERRZREMHE 1.00 527,097 527,097
=

E>3:51 3,897,816

35 #&EhinTHAT (1) IR+ #5855 SD345 D13 2,712.00 271 734,952
kg

36 #xEhinTHAI (2) IR+ #5885 SD345 D16 5,984.00 264 1,579,776
kg

37 $REFANTHAST (3) TRE A8 SD345 D19 6, 136. 00 258 1,583, 088
kg

Eilp s 856, 674

38 SR AE ST HH S K 39.00 21,966 856, 674
m2

avoy—¢ 5,574, 366

39 KhFo#tEa 2y ) — FTER 24-50-20BB 126. 00 44, 241 5,574, 366
m3

TE@EmaVyU—Fhk 3,261,672




BERRE

FHAFEREEW RME)FE-T5m(BR)THEEIR)

£ g R - KT BfI 8 2 fili ki £ i

avyy—+ 3,261,672

40 o>y — T 18-8-40BB 86. 00 19, 653 1,690, 158
m3

41 Kkha vy )— TR 30-15-40BB 71.00 22,134 1,571,514
m3

LET 34, 830, 214

a2 y—bI 9, 865, 220

R 397,110

42 RN (EHK) 61.00 6,510 397,110
m

Eilp s 5,187,728

43 SHERIAEST - #H4) 509. 00 10,192 5,187,728
m2

CEHEE 151, 380

44 HfEE BEEMHMEER 60. 00 2,523 151, 380
m2

E33:0] 1,038, 457

45 $kEainTHAT (1) SD345 D13 1, 699. 00 195 331, 305
kg

46 $FHn T4 (2) SD345 D16 3, 664.00 193 707,152
kg

avyy—+ 3,090, 545

47 229 ) — T 24-12-20BB 155. 00 19,939 3,090, 545
m3

HwEIVIU—+I

263,

080




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

£ g R - KT Bify H = B M & B wmE

xR 45,570

48 ZRM N EAHR) 7.00 6,510 45,570
m

Eilp s 71, 344

49 SHBIRIFARST - #H4 7.00 10,192 71,344
m2

avyy—+ 146, 166

50 BV — b 24-12-20BB 6. 00 19,939 119, 634
m3

51 EfRs#kmERMHE 1.00 26, 532 26, 532
=

g5V R7UhA—I 24,701,914

TI59V R7Uh—HEE 9, 055, 204

52 SHZIRIFARST - #H4 186. 00 9,544 1,775,184
m2

53 {@fiE B i BEEMHMEER 38.00 2,523 95,874
m2

54 kAR I AL (1) SD345 D13 6,512. 00 191 1,243,792
kg

55 SR T #AAL (2) SD345 D16 912. 00 189 172, 368
kg

56 kL 74.00 1,191 88,134
m2

57 a2y ) — T 24-12-20BB 262.00 19, 291 5,054, 242
m3

58 &I7L $19x130L 448.00 539 241, 472
7

59 U5 U R7 U h—ERHHE 1.00 384,138 384,138
=




BEARE SHAEEEZEG R X)FE(-7.5m (B B)THEEEIR)
£ b R - AR B 2 i % i
EEEPrAEY 476, 292
60 SMBBILMANT - M5 29.00 9, 544 276, 776
m2
61 FR#EEH EEHHEER 2.00 2,523 5,046
m2
62 a2 1) — TR 24-12-20BB 10. 00 19, 447 194, 470
m3
ClEN 11, 390, 900
63 BIFL (1) ¢ 135mm(BEL) HIFLLZEREL=30 194. 00 11,420 2,215, 480
m
64 &I7L(2) o 135m(EFREY L) HIFLEZRL=Z30 312.00 23,230 7,247,760
m
65 &l (3) ¢ 135mm (&5) BIFLERL=30 98. 00 19,670 1,927, 660
m
TUR-SAM NI - AL - HE A - BRER - B - BEER 502, 400
AER (FUh-)
66 7UN-SAF NI -$HSL- A BRiR-EE- 16. 00 31, 400 502, 400
BEERALEE (PUh-) *
5 INEAN 1,493, 790
67 75 REA 24N/mm2. W/C=50% 29.00 51,510 1,493,790
m3
avosy—+r&E 1,783,328
68 a2y —FERE 790 x 790 x 100  W=156kg 16. 00 9, 458 151,328
Gl
69 oY — FEMHE B AE & R R - 1.00 1, 632,000 1,632,000
=
SMET 2,768, 557
FAI77ILNGET 2,768, 557




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

£ [} g - BAKTE Bify H = B * H =

HERL 274, 404

70 BRL 314.00 873.9 274, 404
m3

TrRERE 145, 680

1 TrERE BHEY79432 RC-40 t=15¢m 240. 00 607 145, 680
m2

N=F-3" 175, 680

12 LERREE PIERERA M-40 t=15cm 240. 00 732 175, 680
m2

g 1,473, 623

B TS54La—+ 278.00 117 32,526
m2

14 EE (1) BHEHAEASESY (20) t=15cm 241.00 5, 261 1, 267, 901
m2

75 £E (2) BAMNEASESY (20) t=13. 4cm 36. 00 4,811 173,196
m2

=B 699, 170

76 2voa—Fk 278.00 36 10, 008
m2

I BEZHEASESY (20) t=bcm 278.00 2,479 689, 162
m2

TR 22,815,679

TR 22,815,679

T 1,940, 459

18 ZEEET B #E 350KNEY 3.00 25,515 76, 545
=




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

% g g - BAKTE B B B2 B & B wmE
79 fRAREEAEERAT (1) FH 4 350KNE! 3.00 451,185 1,353, 555
#
80 {RARERFEER(T (2) BHAES50KNE!  RARBGER! #&AFIT 1.00 102, 620 102, 620
#
81 {RMRERMEM M & BHAES50KNE!  RARBGER! #&AFIT 1.00 397, 007 397, 007
=
82 {RAinEhiE R A #E 350KNE! 4.00 2,683 10, 732
m2
Pt T 17,163, 477
83 AR ER{T 9.00 16, 285 146, 565
#
84 FHM%H ER 4T VZ4-300H x 3100LLL £ 9.00 1,890, 768 17,016, 912
#
BHit - BE2YI 3,711,743
85 EFHRT (1) L=7.74m, L=6.00m. L=4.73m, L=4.00m 50.00 47,404 2,370, 200
m
86 E.FHR{T (2) L=2.50m, L=2.00m 9.00 47,2817 425,583
m
87 HZEMEmt 68. 00 13,470 915, 960
m
HEREE FEL) 2,246, 951
HEREE 2,246, 951
HBEREE 2,246, 951
EiE 51,520
R E% M E M 51,520
88 ;H AR L IRER ' 1.00 51,520 51,520
=




BEANRE SFNAERE 2B R R) R (-7 5m)(B B) TE(HEIR)

% R R - RARSTiE BfL % 8 B ® # m o=

EREBXHIEERE 2,195, 431

KEF AL 2,195, 431

89 EEHILIEERE 80. 00 5,928 474,240
m

90 FAERSIEIREE 80. 00 5,512 440, 960
m

91 FEMIERE N 1.00 1,260, 940 1,260, 940
=

92 FEILIERFEE 1.00 19, 291 19, 291
=

10




FHAFEREEW RME)FE-T5m(BR)THEEIR)

% g R - KSR Bifr 2 il & B W =
EEIEE 82,902, 004
MEIEH 8,410,549 + 21,869, 356 30, 279, 905
HERERE GDH 2,246,951 + 5,590,901 + 572,697 8,410, 549
HBRBE (FEL) 2,246, 951
HBERER (R) 85,007,435 x 6.57% ((4.94% x1.00 +1.50% x 1.02) 5,590, 901
RSRERES 82,999,662 x 0. 69% 572, 697
Regng 91,312,553 x 23.95% ((21.91% +1.34%) x 1.03) 21, 869, 356
TER 82,902,004 + 30,279, 905 113, 181, 909
—REEES 113,181,909 x 16.83% (16.83% x 1.00) — 8,496 19, 040, 019
KRR HE 113,181,909 x 0. 04% 45,272
RISy 7T -7,200
T &l 113,181,909 + 19,040,019 + 45 272 — 7,200 132, 260, 000
HETR SR L 132,260,000 x 10.00% 13, 226, 000
FEIZRE 132, 260,000 + 13,226, 000 145, 486, 000




Rifiz -/ \v7r—o

DMAFEEFZE R X)FE(-75m @ R)THEIR)

&5 1
W JL—FrorERE 1MEY (480
2 b g - BIRTE By = B O ® # " =
SOTL—29L—r [hEEBES J8E]  16tH
B 1.00 39, 500. 00 39, 500
HEER
A 1.00 25, 200. 00 25,200
BET
A 1.00 26, 150. 00 26, 150
HIRIEXS
A 2.00 21,420. 00 42, 840
LTEEXE
A 2.00 17, 960. 00 35,920
o AtIERES ELiE R
= 1.00 35, 000. 00 35, 000
EME (E+FEHH)
% 5.00 204, 610. 00 10, 190
& Hi 1EZHED : 4. 0081 53, 700. 00 214,800
5.2
B RO Ty THHER  HA10km 1%y
2 b g - BIRTE By = B O ® # " =
BEYBEHEESR
= 1.00 613. 00 613
HEIL - #EAAHER
= 1.00 270.00 270
& Hi 1E%HeH - 1.00K 883. 00 883
53
£ F5  RAERAEIE  HB4E250KNEY 1HEY (2F)
2 b g - BIRTE By = B Ol ® # " =
RS 1+ A 51 73150kN~ 1000kN=R ;i
= 2.00 39, 795. 00 79, 590
& Hi 1E%HEDN : 2. 00K 39, 795. 00 79, 590




Rifiz -/ \v7r—o

DMAFEEFZE R X)FE(-75m @ R)THEIR)

Hz5 .4
L : BHfEA A 300Hx 1, 800L 1BEY (6H)
£ b L - BIRTiE BAf = B ® # " =
TRk E H=250mmLA L500mmKF o L—ik=
H 5.00 26, 145. 00 130, 725
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 1.00 39, 500. 00 39, 500 8H
& Hi 1E%HEN : 5. 00& 34, 045. 00 170, 225
F5 .5
ZF5 : BIREAERR T AT~ QB B
£ b L - IRTiE BAf = B ® # " =
BEYBEHEER
= 1.00 988. 00 988
BREL - EAHER
= 1.00 435. 00 435
& Hi 1E%HeH - 1.00K 1,423.00 1,423
5 :6
¥ B LS 1LY
£ b L - BIRTiE BAf = B ® # " =
nne Fhf%#f
t 0.29 13, 462. 00 3,903
& B 1E%HeH - 1.00K 3,903. 00 3,903
&5 .1
LW SRR t=6. 6cm (As) . 30cm (Co) Tmy
£ b L - BIRTiE BAf = B ® # " =
D t=6. 6¢m (As) . 30cm (Co)
m 1.000 3,977 3,977
= it YEZEREN : 1.00m 3,977 3,977




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

5.8
£ TR I 7I)L MElZEME  t=6. 6cm. t=10cm Tm2%Y
£ b L - BIRTiE BAf H = B %8 # " =
T AT 7L AR t=6. 6cm. t=10cm
m2 1.000 170.7 170.7
& Hi YEEREN :1.00m 2 170.7 170.7
5.9
B TRI7IL REGER  TEIT BT~ LR Im3%Y
£ b L - IRTiE BAf H = B %8 # " =
7 A7 I FRRER e T & AT~ IR R E%
m3 1.00 2,773 2,713
& Hi 1E%HEH : 1.00m 3 2,773 2,713
&5 :10
ZH: PRI 7IL RO 100m3 %Y
£ b L - BIRTiE BAf H = B %8 # " =
N TAI77IL L&
m3 100. 000 2,350.00 235, 000
& B YEZERES : 100.00m 3 2,350.00 235, 000
&5 11
&% E&a o) — FEE  t=10cm Tm2%HYy
£ b L - BIRTiE BAf H = B %8 # " =
Lo ) — EE t=10cm
m2 1.000 170.7 170.7
& Hi YEEREN : 1.00m 2 170.7 170.7




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

&5 .12
& a2y ) — MRS t=30cm Tm2%Y
2 b g - BIRTE By o = B ) # " =
a9 ) — MEEREE t=30cm
m2 1.000 676.8 676.8
& Hi 1E%HEH : 1.00m 2 676.8 676.8
&5 .13
£ oYy )— FEGERK () EIERT~NEER Tm3HyY
2 b g - BIRTE By H = B ) # " =
a9 ) — FERER (1) 1 T & Fr ~ IR
m3 1.00 3,429 3,429
& Hi 1E%HEH : 1.00m 3 3,429 3,429
&S 14
£ a2 ) — FEGEW(2)  EIERT~NEER Tm3HyY
2 b g - BIRTE By H = B ) # " =
a9 ) — FERER () 1 T & Fr ~ IR RS
m3 1.00 1,970 1,970
& Hi 1E%HEH : 1.00m 3 1,970 1,970
5 :15
£ Ao )—rFE0H () BHIDVU—F 100m3 %Y
2 b g - BIRTE By #H = B ) # " =
N avy)— ks
m3 100. 000 2,100. 00 210, 000
& B 1E%HEH : 100.00m 3 2,100. 00 210, 000




Rifiz -/ \v7r—o

DMAFEEFZE R X)FE(-75m @ R)THEIR)

&5 .16
£ aAVO)—RFEOD(2) SHFHavU—F 100m3 %Y
2 b g - BIRTE By = BHO(f %8 # " =
nne HHarv—+k
m3 100. 000 2,300. 00 230, 000
& B YEZERES : 100.00m 3 2,300. 00 230, 000
&= .17
£ BRBEMEE Tm3%Y
2 b g - BIRTE By = BHO(f %8 # " =
BRI E
m3 1.000 247.3 247.3
& Hi 1E%HEH : 1.00m 3 247.3 247.3
&= .18
&% HEEE Tm3%Y
2 b g - BIRTE By = BHO(f %8 # " =
HERE
m3 1.000 339.7 339.7
& Hi 1E%HEH : 1.00m 3 339.7 339.7
&5 19
¥ hEMEE Tm3%Y
2 b g - BIRTE By = BHoO(f %8 # " =
hEEMEE
m3 1.000 247.3 247.3
& Hi 1E%HEH : 1.00m 3 247.3 247.3




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

E5:2
2% TREER BB~ NEER Tm3%Y
2 b g - BIRTE BT o = B O 25 W = " =
TREER 1 T & Fr ~ IR RS
m3 1.00 2,133 2,133
& Hi 1E%HEH : 1.00m 3 2,133 2,133
&5 21
&% HELY 100m3 %Y
2 b g - BIRTE BT H = B O %8 W E " =
nng #A
m3 100. 000 7, 000. 00 700, 000
& B YEZERES : 100.00m 3 7, 000. 00 700, 000
&5 .22
L% BEICHERI O YER - 845 (1) NBFEU21.0t/{E. NBFE! ({ZfA4XER4t ) 20. 3t/1& 18%Y (52{&)
2 b g - BIRTE BT H = B O %8 W E " =
STFL—29L—r A AR ER) GHhE e > I8 50t FR
B 1.00 79, 500. 00 79, 500 8H
STFL—29L—r A AR ER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
cL—3 25tF&
B 6. 00 71,782.00 466, 692/6. 30H / 8H
U
A 2.00 23, 420. 00 46, 840
LEEXS
A 4.00 17, 960. 00 71, 840
MR 2E0%
% 0.50 744, 372. 00 3,721
& B 1YEZRES - 52. 001& 14, 386. 00 748, 093




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

&5 :23
£ EIHE IO Y& - B4 () NBE!20. 4t/1@ 1B%Y (52{&)
2 b g - BIRTE By = B ) W = " =
ST7TL—r9L—2r HEHEARRER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
ST7TL—r9L—2r HEHEARRER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
cL—3 25t1&
B 6.00 71,782.00 466, 692/6. 30H / 8H
Bk D 270PSE! 3~5tm
B 1.00 179, 986. 00 179, 986 8H
LU
A 2.00 23,420. 00 46, 840
LTEEXE
A 4.00 17, 960. 00 71, 840
MR 2E0%
% 0.50 924, 358. 00 4,621
& B 1YEZRES - 52. 001& 17, 864. 00 928, 979
E5:24
& EIHE IO v Y8 - 84 (3) NBF1/2E! (Zf5H)10. 5t/{8. NBF1/2%! (Z/5%E)10. 5t/{@ 1B%Y (591@)
2 b g - BIRTE By = B ) W = " =
ST7TL—r9L—r HEHEARRER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
ST7TL—r9L—r HEHEARRER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
cL—3 25t1&
B 4.00 71,782.00 311,128/6.30H / 8H
LU
A 2.00 23, 420. 00 46, 840
LEEXS
A 4.00 17, 960. 00 71, 840
MR 2E0%
% 0.50 588, 808. 00 2,944
& B 1YEZRES - 59. 001& 10, 029. 00 591, 752




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

&5 :25
£ EIHE IO v Y& - B4 @) NB1/2E!10. 2t/1@ 1B%Y (591@)
2 b g - BIRTE By = B O %8 W = " =
STFL—29L—r A AR ER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
STFL—29L—r A AR ER) GHhE e > I 50t HR
B 1.00 79, 500. 00 79, 500 8H
cL—3 25tF&
B 4.00 71,782.00 311,128/6.30H / 8H
Bk D 270PSE! 3~5tH
B 1.00 179, 986. 00 179, 986 8H
LU
A 2.00 23,420. 00 46, 840
LTEEXE
A 4.00 17, 960. 00 71, 840
MR 2E0%
% 0.50 768, 794. 00 3, 843
& B 1YEZRES - 59. 001& 13, 095. 00 172, 637
&5 :26
L SkEFNI AL 1000k g4 Y
2 b g - BIRTE By = B O %8 W = " =
% (2 SD345 D13
k g ,020. 00 111.00 113, 220
HHMIMEL(LELTOy S EE) yL—rtkE
k g ,000. 00 70. 35 70, 350
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 39, 500. 00 3,950 8H
& Hi YEZHeH - 1,000.00k g 187.00 187, 520
5 :21
& REmMEE D13 L=780mm AHY (AXK)
2 b g - BIRTE By = B Ol %8 W = " =
R EkE ®13 L=780mm W=0. 81kg/A
ZN 1.00 385. 00 385
& B 1E%HEN 1. 00K 385. 00 385




Rifiz -/ \v7r—o

SHAEEEZBORX)FE-75m)(BHR)THEEIR)

&S .28
&% BEFMEL P13 L=780mm 1000k g Y
2 b g - BIRTE BT o = il ® # " =
BEkE - m/N—#L HAHEIBMEKFH Y L— ik E
k g 1,000. 00 85.05 85, 050
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 39, 500. 00 3,950 8H
& Hi YEZHeH : 1,000.00k g 89.00 89, 000
ES .29
£ SRB AN 100m2 %Y
2 b g - BIRTE BT H = il ® # " =
SHB R AT AR S (TR ELME) yL—rtkE
m2 100. 00 3,952.00 395, 200
STFL—29L—r A AR ER) ChEES IR 16tH
B 0.80 39, 500. 00 31,600 8H
& Hi YEZERES : 100.00m 2 4, 268. 00 426, 800
&5 :30
B avy ) — bTER  24-12-20BB 10m3%HY
2 b g - BIRTE BT H = il ® # " =
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